ON CHARACTERISATION OF SEMIGROUP AND ITS INVERSES

SHAHID AHMAD HASHMI

Assistant Professor, Department of Mathematics Karim City College, Jamshedpur – 831001 (Jharkhand)

RECEIVED : 21 September, 2021

The main purpose here is to show equivalence between semigroup quotient group and properties. The correspondence between the set of associative semigroup and inverse set of matrices has been shown by R. B. Papat. We extend its generalized inverse on semigroups using factorization method. The properties of generalized inverses of a matrix is a structure of a semigroup, which shows that semigroup is not commutative. The modified version of an equivalence relation on isomorphism between the quotient semigroup and the semigroup of projectors have been derived to show that there exist a one-to-one correspondence between the set of matrices and the set of associative semigroups.

Keywords : (Semigroup, Moore-Penrose inverse, Equivalent Matrices, Isomorphism, Semigroup projection)

INTRODUCTION

Let K represents the real or the complex field. Let A be an $m \times n$ matrix over K. The generalized inverse inverse of A is an $n \times m$ matrix X over K, which satisfies the matrix equation AXA = A. X alsosatisfies the equation XAX = X, then X is said to be a reflexive generalized inverse. It is known that there are infinitely sets of $\{1\}$ -inverses and $\{1,2\}$ inverses of a matrix A. we establish here that the set of $\{1\}$ inverses of a matrix A a structure of a semigroup and its algebraic properties like factorization and commutativity by using the method the Moore-Penrose inverse. Let us first define an equivalence relation in order to establish an isomorphism between the quotient semigroup and the semigroup of projectors on R(A). We derive the relation between semigroups associated to equivalent matrices and the correspondence between the set $M_{m \times n}(K)$ and the set of the associated semigroups.

THEOREM

Let * be a law on $A^{\{1\}}$ defined as follows: for any X, $Y \in A^{\{1\}}$, X * Y = XAY. Then the following statements are equivalent.

PCM0210169

(i) $A^{\{1\}}$ is a semigroup.

(ii) For any X, $Y \in A^{\{1\}}$ we have $X * Y \in A^{\{1,2\}}$

(iii) $A^{\{1,2\}}$ is an ideal of $A^{\{1\}}$.

(iv)
$$P_{AA^+} * P_{A^+A} = A^{\{1,2\}}$$
 and $P_{AA^+} \cap P_{A^+A} = \{A^+\}$

(v) For any X and Y in $A^{\{1\}}$ we have

$$X * Y = Y * X$$
, $AX \Leftrightarrow AY$ and $XA = YA$.

Proof

(i) A(XAY)A = (AXA) Y A = AY A = A. Then $X * Y = XAY \in A^{\{1\}}$.

The associativity of *is obtained from the associativity of a product of matrices. So $A^{\{1\}}$ is a semigroup.

(ii) Let X and Y be in $A^{\{1\}}$. Since A(XAY)A = A and (XAY) A (XAY) = X (AYA) (XAY) = X (AXA) Y = XAY, we obtain $X * Y = XAY \in A^{\{1,2\}}$.

(iii) As $A^{\{1,2\}} \subset A^{\{1\}}$, then 3 is just a simple consequence of 2.

(iv) Since P_{AA+} and P_{A+A} are sub-semigroups of $A^{\{1,2\}}$. Let $A = Q^{-1} \begin{pmatrix} a_r & 0 \\ 0 & 0 \end{pmatrix} P$. For any $Z = P^{-1} \begin{pmatrix} a_r^{-1} & x \\ y & ya_r x \end{pmatrix} Q \in A^{\{1,2\}}$ there exist $Y = P^{-1} \begin{pmatrix} a_r^{-1} & 0 \\ y & 0 \end{pmatrix} Q \in P_{AA+}$ and $X = P^{-1} \begin{pmatrix} a_r^{-1} & x \\ 0 & 0 \end{pmatrix} Q \in P_{AA+}$ such that $Y * X = P^{-1} \begin{pmatrix} a_r^{-1} & 0 \\ y & y0 \end{pmatrix} \begin{pmatrix} a_r & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} a_r^{-1} & 0 \\ 0 & 0 \end{pmatrix} Q^{-1} = P^{-1} \begin{pmatrix} a_r^{-1} & x \\ y & ya_r x \end{pmatrix} Q = Z$. Consequently, we obtain $P_{AA+} * P_{A+A} = A^{\{1,2\}}$. Hence, $P_{A+A} * P_{AA+} = \{A^+\}$. For $Z = p \begin{pmatrix} a_r^{-1} & x \\ y & ya_r x \end{pmatrix} Q^{-1} \in P_{AA+} \cap P_{A+A}$ we obtain x = 0 and y = 0. Then $Z = P \begin{pmatrix} a_r & 0 \\ 0 & 0 \end{pmatrix} Q^{-1} = A^+$. Therefore $P_{AA+} \cap P_{A+A} = \{A^+\}$. It is replaced by uniqueness of factorization of elements of $A^{\{1,2\}}$.

(v) For any X and Y in $A^{\{1\}}$ we have $XAY = YAX \Rightarrow AXAY = AYAX \Rightarrow AY = AX$ and $XAY = YAX \Rightarrow XAYA = YAXA \Rightarrow XA = YA$. Conversely, $AY = AX \Rightarrow XAY = XAX$ and $YA = XA \Rightarrow YAX = XAX$. Hence we obtain X * Y = Y * X, $AX \Leftrightarrow AY$ and XA = YA.

The commutativity on $A^{\{1\}}$, is not valued but a kind of commutativity modulo projectors is true.

Theorem

Let $A \in M_{m \times n}(K)$, Π be the semigroup of projectors of K^m on R(A). Then the following relations holds.

(i) For any $P \in \Pi$, there exists $X | \in A^{\{1\}}$ such that AX = P.

88

(ii) There is an equivalence relation ~ on $A^{\{1\}}$ such that under the quotient law of *, $A^{\{1\}}/\sim$ is a semigroup isomorphic to Π .

Proof

(i) Let $P \in \Pi$ and $A^{-} \in A^{\{1\}}$. Where AA^{-} is a projector on R(A), we obtain $AA^{-}P = P$ and PA = A. Thus, if $X = A^{-}P$, $AXA = AA^{-}PA = AA^{-}A = A$ and AX = P which means that $\Pi = \{AX = X \in A^{\{1\}}\}$.

(ii) Let ~ be a relation in $A^{\{1\}}$ defined by $X \sim Y$, $AX \Leftrightarrow AY$. Then there exists an equivalence relation in $A^{\{1\}}$. Let X be the canonical map from $A^{\{1\}}$ on $A^{\{1\}}/\sim$. Then for every $\mathcal{X}(X), \mathcal{X}(Y) \in A^{\{1\}}/\sim$, the quotient law of \square is defined by $\mathcal{X}(X) \mathcal{X}(Y) = \mathcal{X}(X * Y)$. we find that $A^{\{1\}}/\sim$ is a semigroup and X is an homomorphism. Which implies that there exists a map X from $A^{\{1\}}/\sim$ to * defined by $\psi(\mathcal{X}(X)) = AX$. We show that ψ is an homomorphism. Since A(XAY) = (AXA) Y = AY, we obtain $XAY \sim Y$. Then $(XAY) = \mathcal{X}(Y)$. Therefore

 $\psi(x(X)\ x(Y))=\psi(x(X^*Y))=\psi(x(XAY)_=\psi(x(Y)\ AY=(A\ X\ A)Y=(AX)(AY)=\psi(x(X)\psi(x(y))$

Now, since AX = AY, it follows that $\mathcal{X}(X) = \mathcal{X}(Y)$ we thus conclude that for any $AX \in \Pi$ there is a unique $\mathcal{X}(X) \in A^{\{1\}}/\sim$ such that $\psi(\mathcal{X}(X)) = AX$ which means that ψ is a bijection.

Theorem

There is a one-to-one correspondence between $M_{m \times n}(K)$ and $M^{\{1\}}_{m \times n}(K)$ maps 0 to $M_{n \times m}(K)$ and preserves isomorphisms between semigroups.

Proof

Let ψ be a map from $M_{m \times n}(K)$ onto $M^{(1)}_{m \times n}(K)$ defined for every $A \in M_{m \times n}(K)$ by $\psi(A) = A^{(1)}$. Since 0X0 = 0 for any $X \in M_{n \times m}(K)$, we get $0^{(1)} = M_{n \times m}(K)$. Thus $\psi(0) = M_{n \times m}(K)$. \Longrightarrow we have rank(A) + rank(B - A) = rank(B) and rank(B) + rank(A - B) = rank(A). Thus, we obtain rank(A - B) = 0 = rank(B - A). Therefore A = B. Now, let A and $B \in M_{m \times n}(K)$ such that $B = Q^{-1}AP$. Which implies $B^{(1)} = \{P^{-1}XQ/X \in A^{(1)}\} = \varphi(A^{(1)})$. Hence, we get $\psi(B) = ((\psi(A)))$.

Theorem

(a) For every matrix $A \in M_{m \times n}(K)$ there exists a matrix $A' \in M_{m \times n}(K)$ such that $A^{\{1\}} \cap A'^{\{1\}} \neq \Phi$.

(b) For any matrices $A, B \in M_{m \times n}(K)$ there exists an isomorphism φ from $A^{\{1\}}$ on φ $(A^{\{1\}})$ such that $\varphi (A^{\{1\}} \cap B^{\{1\}} = \varphi)$.

Proof

(a) Let rank $A = r \le \min(m, n)$. It is sufficient to prove that for $A \in M_{m \times n}(K)$ with rank (A) = r, there exists a matrix $A' \in M_{m \times n}(K)$ such that rank $(A + A') = \operatorname{rank}(A) + \operatorname{rank}(A') = \min(m, n)$. we thus find that every $\{1\}$ - inverse of (A + A') is a $\{1\}$ - inverse of both A and A'. Thus $A^{\{1\}} \cap A' A^{\{1\}} \neq \phi$. Let P and Q be two nonsingular matrices such that $A = Q^{-1} \begin{pmatrix} I_r & 0 \\ 0 & 0 \end{pmatrix} P$. Then it is sufficient to take $A' = Q^{-1} \begin{pmatrix} 0 & 0 \\ 0 & w \end{pmatrix} P$ with $w \in M_{(m-r) \times (n-r)}(K)$ and

$$rank(w) = \min(m, n) - r. \qquad \dots (1)$$

b) Let us put rank(A) = r, rank(B) = s. Hence, there exist matrices A' and $B' \in M_{m \times n}(K)$ of ranks min (m, n)-r and min (m, n)-s such that rank(A + A') = rank(A) + rank(A') = min <math>(m, n) and rank(B + B') = rank(B) + rank(B') = min <math>(m, n). It follows that $(A + A')^{(1)} \subset A^{(1)} \cap A'^{(1)}$, $(B + B')_{\{1\}} \subset A^{(1)} \cap B'^{(1)}$. Since A + A', B + B' have the same rank, as such they are equivalent. Hence, there exists an isomorphism φ from $A^{(1)}$ on $\varphi(A^{(1)})$ such that $\varphi(A + A')^{(1)} = (B + B')^{(1)}$.

$$\Rightarrow \qquad \varphi((A+A')^{\{1\}}) \subset \varphi((A)^{\{1\}} \cap A'^{\{1\}}) = \varphi(A^{\{1\}}) \cap \varphi(A'^{\{1\}}) \qquad \dots (2)$$

and
$$\qquad \varphi((A+A')^{\{1\}}) \subset B^{\{1\}} \cap B'^{\{1\}} \text{we get } \varphi(A^{\{1\}}) \cap B^{\{1\}} \neq \phi$$

Let us take $B = \alpha A$ for a scalar α which is different of 1 and 0, then if $X \in A^{(1)} \cap B^{(1)}$, we get $\alpha A = \alpha A X \alpha A = \alpha^2 A$. Thus $\alpha \in \{0, 1\}$ which contradicts assumption of the theorem. Consequently we $A^{(1)} \cap B^{(1) \neq \Phi}$.

THEOREM

(a) The inclusion is a partial order in $M^{\{a\}}_{m \times n}(K)$ induced by the minus order in the reverse order.

(b) Let $m_0 = \min(m, n)$. For any matrix $A \in M_{m \times n}(K)$ of rank r there exists a sequence of matrices $A = A_r \lt A_{r+1} \lt A_{m0}$ in $M_{m \times n}(K)$ such that rank $(A_r) = \operatorname{rank}(A) = r$, rank $A_{r+i} = r + i$ for $i = 1, ...m_0$ - r. Thus, there exists a sequence $A^{\{1\}} m_0 \subset ... \subset A^{\{1\}}_r = A^{\{1\}}$ and $A^{\{1\}} m_0$ is the last term.

Proof

a) For $A, B \in M_{m \times n}(K)$, if $A \prec B$, then rank(B) = rank(A) + rank (B - A). It follows that $B^{\{1\}} \subset A^{\{1\}}$. Hence, we obtain the partial order \subset in $M^{\{1\}}_{m \times n}(K)$. b) Let $\{v_1, v_2, ..., v_r\}$ be a basis of R(A) and $\{v_{r+1}, v_{r+2}, ..., v_m\}$ be such that the basis of R(A) form a basis for K^m . Let $\{e_1, e_2, ..., e_n\}$ be a basis for K^n such that $A_r e_j = A e_j = v_j$ for j = 1, ..., r and $A_r e_j = 0$ for j = r + 1, ..., m and for i = 1, ..., m0 - r, $A_{r+i}e_j = v_j$ for j = 1, ..., r + i and $A_{r+i}e_j = 0$ for j = r + i + 1, ..., m. In these bases the matrices $A = A_r$ and A_{r+i} are of the form $A = A_r = Q^{-1} \begin{pmatrix} I_r & 0 \\ 0 & 0 \end{pmatrix} P$, $A_{r+i} = Q^{-1} \begin{pmatrix} I_{r+i} & 0 \\ 0 & 0 \end{pmatrix} P$ for $i = 1, ..., m_0 - r$. Then $rank(A_r) = rank(A) = r$, and we obtain the following relation

Acta Ciencia Indica, Vol. XLVI-M, No. 1 to 4 (2021)

 $\operatorname{rank}(A_{r+i}) = \operatorname{rank}(A_r) + i = r + i = \operatorname{rank}(A_r) + \operatorname{rank}(A_{r+i} - A_r) \qquad \dots (3)$

for $i = 1, ..., m_0$ - r. Thus $A = A_r \prec A_{r+1} \prec ... \prec A_{m0}$. By a), we have $A^{\{1\}}_{m0} \subset ... \subset A^{\{1\}}_{r} = A^{\{1\}} \cdot A^{\{1\}}_{m0}$ is the last term because A_{m0} is of maximal rank. Hence, the theorem is proved.

References

- 1. B.M.Vernikov and V.Yu. Shaprynski'ı, Distributive elements of the lattice of semigroup varieties, *Algebra i Logika*, 49, 303–330, in Russian; Engl. translation: Algebra and Logic, 49, 201–22
- Mumford, D., Fogarty, J., Kirwan, F, *Geometric Invariant Theory*. Third edition Springer-Verlag, Berlin (1994),
- 3. Putcha, M.S. On linear algebraic semigroups. Trans. Amer. Math. Soc. 259, No. 2,457-469 (1980).
- Putcha, M.S. Products of idempotents in algebraic monoids. J. Aust. Math. Soc. 80, No. 2, 193–203 (2006)
- 5. Renner, L.E.: Quasi-affine algebraic monoids. Semigroup Forum 30, No. 2, 167–176 (1984).
- 6. Renner, L.E. Linear Algebraic Monoids. Springer-Verlag, New York (2005).
- Vernikov B.M., Volkov M.V., Modular elements of the lattice of semigroup varieties II, *Contributions to General Algebra*, 17, pp. 173–190, Heyn, Klagenfurt (2006).
- K. D. Magill, A survey of semigroups of continuous self maps, Semigroup Forum 11, 189–282 (1975/76).
- 9. T. J. Head, The lattice of varieties of commutative monoids, Nieuw Arch. Wiskunde, III Ser., 16, 203–206 (1968).
- M.V. Volkov, (1989) Semigroup varieties with modular subvariety lattices, *Izvestiya VUZ*. Matematika, No. 6, 51–60 in Russian; Engl. translation: *Soviet Math. Izv. VUZ*, 33, No. 6, 48–58 (1989).

Acta Ciencia Indica, Vol. XLVI-M, No. 1 to 4 (2021)